HW _
@I%” _) (>< + 2z >Aw\ Q jj \\X Ma»l)gqm Co
Xl 21” r-cos @*'Z & Am= 3&“/ Bjny{,»a@aé%
o oA '(c‘?vw {naﬂlfé?
& %z "'% =r (‘4 C///ma/’”‘“// a/ _, 5
Crr 2 jv“ S5tV¢-=z f@’?,fr
JJJF%:ZJZ¢~2 r=5{G-z%

T, Airoas] ¢ Tafred:

@ L@+ Rf—"—(defs’bmceﬂ”@m (x,;r,%) o LD:__;\,

Colﬂzi?ﬁl*ué/ Y= ' e %ef B (l ) & B
R P - v/ T
R “"Cﬂs?m Y= — = 2 (0,0, ()

 |AB| 17+35+0

(O(Z-’- ) +@>< %) ) (z- Dl t+ T\‘g (3&——%;’

m [ j”'

X=



O <><%T> OA+uAB *VA*C <l+2u+évf+5w+2v>

CQAE VVKYAC l decdv »-({0 ©, ~26>| A v =26 dudv
E‘wﬂj{ > - e:om[wz@h% () (A’ #(//A = JXO(%_)

[ —4o= = VQ] ) 2.6 J\/)Ju
Jo

0  (]+2ut6)((+5ut2v)

Lf/

N l Lf_é ?—7_\ (TLLQV@ (s no QXQG% 'Eswmu /6(>
O CDMT""%Q QVW?@ 07; X (A Ssa(e_ AQCDE
MA;&: A A A, La{A*fJADEx dA

1 JA +], 1 dA +dpped A
MJA’W @g@ﬁ_@fl

‘ — N —— | ‘ ‘2_
= |AB A< | "L—/H/___,A =




[ k= F0 a1 = €27
ngg X JA f()(gy M(? ~Zv> (ZZ)AV)JM’;7?/,§
cD

' ) u= 95/6
55/39)2 X"Ld{/ﬁ\ jo(f( C"ZM"-g\/') (0)4 )a/t 2 9?

3
éz9+/,§_/2§. e

\ 2 & . _{132
Rt o
) Y 42

Al toptier, oo (<D = S T



1

<><,,(5,> OA ’\LMAB*\/AC <L1L —6u+V, 3+ZM'L§V> H%\/(é

,K é, |, 0> <Z -4, O>(JM(J\/\"ZZ(J%(J\/

”ABDC - :1 f: | Soor= C%féww) (3020 W)

M r dxdy ,—56 (4-bure) + (34140 MM 869@

Agbe " s v o

g =4~ %,7<> = = {x, ‘x\%g/> I”<>< >
<gw'i> < = =< Pyt L=< 2%

/ZTV;; deas <"*’ +—> A LA c’>>-—> <+ __,>\A




e ee———————

D _
éch Aﬁﬁfﬂm(gt<_ 1 St C052t> a

’6 <¢o§t §1th $mf—f—4&§;t>
5 " Ltt(—-—(,o((i sin t—!“Sm tﬁ'cas fsm’t tcos f)At

, £)((+ cos 26)
B y oogqf{_(sm 2i’>(l —cos 2¢) + (1—cos Zt) Hein2 o
O +(\eos 26))dT = ‘Se%(z +2(coszc)(s 20+ 2cos?2t)

| :’(L(’S“m@‘ff(ZHM% o (leeos +E) AE= ’
— 00 — D0
""——/M/ié becawse f “Jq‘ e \ .,] L

j\@ (5in w+cos M)éé‘% = ¢ (GM uwoscﬂ{‘m feu cos u—sin u)du
"""""““"‘e (605 M’SV\VK) +f~w u(~§qq¢(c‘)$u{>0{b{ -—’3~

TZJ(Q (3+Shw~rca$m>olq

=l o)

> T--T > T-C.



